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04) —Ce(-S+i)= B0l -6t =30¢ ~Ll) = 63

Perfect Cubes: WV' w}.
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Factoring by Grouping:
1 X +2x +x2 42 2. 2ac + éad - bc - 3bd
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Quadratic Equation:

ax*+ bx+c=0 wherea#0

Solve:
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X (=3xS 2T ) X=3% | &riee
Q)( HoX = Sx-5 =0 xlir/
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Grdphs of Quadratics:
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- intercept 2 (pomts) where the graph touches or crosses the
x-axis, y = 0; Express as a point (x,0).

zero = (x solutions only) solution to f(x) = 0, answer in
set brackets x = {..list of x values..}

State the x-intercepts and zeros of the following:
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The Politician Puzzle

October 01, 2019

A certain convention had one hundred politicians. Each politician was either
crooked or honest. We are given the following two facts:

1) At least one of the politicians was honest.

2) Given any two of the politicians, at least one of the two was crooked.

Can it be determined from these two facts how many of the politicians were
honest and how many were crooked?
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The Lady or the Tiger?, Raymond M. Smullyan
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